

# ${\bf HOME\ PRODUCT\ SETS\ |\ Stay Marquis}$

### Bath Sets



# FRETTE

#### Set Includes

- **4 Bath Towels:** \$10.67/unit | \$42.66 total
- **4 Washcloths:** \$2.10 / unit | \$8.40 total
- 4 Hand Towels: \$4.20/unit | \$16.80 total
- **2 Bath Mats:** \$7.58/unit | \$15.15 total
- 4 Make Up Wash Cloths: \$3.75/unit | \$15.00 total
- **10 Pool Towels:** \$13.50/unit | \$135.00 total

### TOTAL: \$233.01

Note: Pricing does not include taxes or delivery costs

## Sheet Sets

# KASSATEX

NEW YORK

### Set Includes

- Queen Set
  - Flat Sheet: \$19.31/unit
  - Fitted Sheet: \$16.20/unit
  - **4 Queen Pillowcases:** \$4.20/unit | \$16.80 total
  - o **TOTAL: \$52.31**

Note: Pricing does not include taxes or delivery costs

- King Set
  - o Flat Sheet: \$22.48/unit
  - Fitted Sheet: \$18.70/unit
  - o **4 King Pillowcases:** \$4.80/unit | \$19.20 total
  - o **TOTAL: \$60.38**

Note: Pricing does not include taxes or delivery costs







### Bed Sets





# KASSATEX

NEW YORK

#### Set Includes

- Queen Set
  - **Comforter:** \$64.80/unit
  - **Duvet Cover:** \$29.03/unit
  - 4 Queen Pillows: \$21.00/unit | \$84.00 total
  - o TOTAL: \$177.83

Note: Pricing does not include taxes or delivery costs

- King Set
  - O Comforter: \$74.25/unit
  - O **Duvet Cover:** \$32.40/unit
  - **4 King Pillows:** \$24.50/unit | \$98.00 total
  - o **TOTAL: \$204.65**

Note: Pricing does not include taxes or delivery costs

Thank you!

